

Comparing patient safety culture in primary, secondary and tertiary hospitals in Ghana

Aaron A. Abuosi¹, Emmanuel A. Anaba², Priscilla Y.A. Attafuah³, Immaculate S. Tenza^{4,5}, Patience A. Abor¹, Adelaide Setordji¹ and Edward Nketiah-Amponsah⁶

Ghana Med J 2023; 57(2): 141-147 doi: <http://dx.doi.org/10.4314/gmj.v57i2.9>

¹Department of Public Administration and Health Services Management, University of Ghana Business School, Legon, Ghana

²Department of Population, Family and Reproductive Health, School of Public Health, University of Ghana

³Community Health Nursing Department, School of Nursing and Midwifery, University of Ghana

⁴School of Nursing Science, Faculty of Health Science, North-West University, Potchefstroom Campus, South Africa

⁵South African Research Chairs Initiative (SARChI), School of Public Health, Faculty of Health Sciences, University of the Witwatersrand, Johannesburg, South Africa

⁶Department of Economics, University of Ghana, Legon, Ghana

Corresponding author: Emmanuel A. Anaba

E-mail: emmaanaba24@gmail.com

Conflict of interest: None declared

SUMMARY

Objective: This study compared patient safety culture among health professionals in tertiary, secondary and primary hospitals.

Design: We conducted a cross-sectional survey among thirteen primary, secondary and tertiary hospitals in Ghana. A structured questionnaire was administered to 1,656 health professionals. Data were analysed using descriptive statistics and One-Way Analysis of Variance (ANOVA).

Setting: This study was conducted in the Greater Accra, Bono and Upper East regions, representing the southern, middle and northern ecological zones, respectively.

Participants: Health professionals

Main outcome measures: The primary outcome was patient safety culture.

Results: Five patient safety culture dimensions were rated moderate positive response, while five were rated high positive response. We found a statistically significant difference in patient safety culture across primary, secondary and tertiary hospitals ($p < 0.05$). For instance, the mean difference between tertiary and secondary hospitals was statistically significant ($p < 0.05$). Additionally, the mean difference between tertiary and primary hospitals was statistically significant ($p < 0.05$). There was also a significant difference in the means between secondary and primary hospitals ($p < 0.05$).

Conclusion: This study has demonstrated a variation in patient safety culture across Ghana's tertiary, secondary and primary hospitals. Therefore, healthcare managers and professionals should prioritise patient safety.

Keywords: Levels of care, patient safety culture, adverse event, patient harm, Ghana, hospital

Funding: This work was supported by the University of Ghana [UGRF/13/MDG-001/2019-2020]

INTRODUCTION

Patient safety is a key indicator of the quality of care and a major concern of healthcare leaders and patients across the globe. Promoting patient safety is crucial due to the unacceptably high burden of adverse events. Patient harm (e.g. pressure ulcers, infusion and drug reactions, patient fall and nosocomial infections) contributes more to the global mortality burden than cancer, diabetes or road injuries.¹ Medical error, for instance, is a major cause of death globally.²⁻⁴ Besides, patient harm engenders prolonged hospital stay, which contributes to crowding in

health facilities and huge healthcare expenditure; hence poses a threat to healthcare quality.⁵ Also, unsafe injection practices may lead to infections (i.e. HIV and hepatitis) and pose a hazard to patients and healthcare professionals. For instance, 134 million adverse events are reported annually in low- and middle-income countries, resulting in 2.6 million deaths.⁶ Fortunately, a majority of adverse events are avoidable.⁷ Therefore, the World Health Organization (WHO) aims to eliminate avoidable patient harm by 2030.⁶

Adverse events are reported at all levels of care, including primary, secondary and tertiary hospitals. Evidence shows a significant association between hospital characteristics and adverse events.⁸ Teaching (tertiary) hospitals have a relatively longer stay than non-teaching hospitals.⁹

Evidence suggests that promoting a safety culture in health facilities may help reduce the incidence of adverse events.¹⁰⁻¹¹ Patient safety culture is “the product of individual and group values, attitudes, perceptions, competencies, and patterns of behaviour that determine the commitment to, and the style and proficiency of, an organization’s health and safety management”.¹²⁻¹⁴ Patient safety culture should promote a ‘just culture’ through open communication, good information flow, and management commitment.¹⁵ Additionally, it must support a non-punitive response to error and adverse event reporting.¹⁵⁻¹⁶ Evidence shows that promoting patient safety culture in health facilities can potentially reduce adverse events and negative patient outcomes.¹⁷

In Ghana, patient harm is a major concern for patients and health professionals across different levels of care. Existing studies have reported several adverse events in Ghanaian health facilities, including hospital-acquired infections, patient falls, infection abscesses, surgical wound infections, and deaths.¹⁸⁻¹⁹ Patient safety has received the attention of healthcare leaders in Ghana. For instance, Ghana has signed onto WHO’s agenda of reducing patient harm by 15% within five years.²⁰ Ghana is among the three African countries selected to model the African initiative that aims at reducing patient harm by 25% within two years.²¹ In addition, Goal 3.1 of the Ghana National Healthcare Quality Strategy (2017-2021) sought to sustain patient safety at all levels of healthcare delivery.²⁰

However, patient safety culture has received limited research attention in Ghana. Prior studies focused on specific geographical areas and hospital ownership types. For instance, patient safety culture was perceived to be low in private, mission and public hospitals in the Upper East region.¹⁸ Another study revealed that patient safety was influenced by teamwork, management support and organizational learning.²² These studies set the pace for further studies. The findings could not be generalized to the whole country since the participants were selected in only one out of sixteen regions in Ghana.

Primary hospitals provide primary care and constitute the first point of contact in healthcare delivery. Secondary hospitals focus on referral cases from the primary level, while tertiary hospitals focus on complex medical cases, medical education and research.

The various types of hospitals differ in infrastructure, personnel and funding. However, none of the existing studies in Ghana has investigated patient safety culture across primary, secondary and tertiary hospitals. This study aimed to assess patient safety culture across the three levels of care. Findings from this study can help identify gaps in patient safety culture and inform patient safety policies and programming in the country.

METHODS

Study design

This study was a cross-sectional survey among health professionals in Ghanaian hospitals.

Setting

Three administrative regions, including the Greater Accra, Bono and Upper East, were selected to represent the southern, middle and northern ecological zones, respectively. The Greater Accra region has a population of about 5.4 million, the Bono region has a population of 1.2 million, and the Upper East region has a population of 1.3 million.²³ The Greater Accra region has the highest proportion of health professionals, while the Upper East region has the lowest. Due to resource constraints, we randomly selected Greater Accra, Bono, and Upper East regions to represent the Southern, Middle, and Northern zones. We did not have enough resources to collect data in all sixteen regions of Ghana.

Participants

Within each selected region, three primary hospitals were purposively selected. The fourth hospital was the regional hospital which is a secondary hospital. One of the five tertiary hospitals in Ghana was purposively selected for this study. The selection of the tertiary hospital was based on the availability of specialised services like oncology and reconstructive surgery. In all, we selected 13 hospitals across the three ecological zones in Ghana. Health facilities below the status of a hospital, such as health centres, clinics and Community-based Health Planning and Services (CHPS) compounds, were excluded. The target population for this study was health professionals (clinical and non-clinical staff), including nurses, doctors, pharmacists, laboratory technicians, radiologists, administrative, and support staff.

Sample size

The sample size was determined using OpenEpi software based on the following formula:

$$n = deff \times \frac{Npq}{\frac{d^2}{1.96^2}(N-1) + pq},$$

where n = sample size; deff = design effect; N= population size; p= estimated proportion; q= 1-p; d= desired absolute precision /absolute level of precision.

Since the total population of health professionals for the respective regions was unknown, a default value of one million, representing the largest possible population and a 50% hypothesized percentage frequency of the outcome variable was used.²⁴ Using a 5% confidence limit and a design effect of 1, the sample size determined for each region was 384. To cater for non-response, 10% of the sample size was added to make it 422. The sample size was divided proportionally to each of the four regional hospitals according to the estimated average annual outpatient attendance. In addition, we selected 422 health workers from the teaching hospital. Thus, the total sample size estimated for this study across the three regions was 1,688 health professionals. However, 1,656 health professionals participated in the study, representing a response rate of 98%. Convenience sampling was used to select participants for the survey. This strategy was appropriate for the nature of this study.¹⁸

Data sources and variables

The Survey on Patient Safety (SOPS) Culture, Hospital Survey questionnaire (version 2.0) was adapted from the Agency for Health Research and Quality for data collection. The questionnaire has 32 items categorized into ten dimensions. The dimensions were communication openness; staffing and work pace; organizational learning—continuous improvement; hospital management support for patient safety; response to error; supervisor support for patient safety; staffing and work pace; communication about errors; reporting patient safety events; handoffs, and information exchange. The responses were a five-point Likert scale (1: strongly disagree/never to 5: strongly agree/always). The items were both negatively and positively worded. The questionnaire had a reliability score (Cronbach alpha) ranging from 0.65 to 8.9, considered adequate (0.64 to 0.85).²⁵ The questionnaire also captured participant characteristics, including primary work area, position, hours of work, work experience, and direct contact with patients. We added respondents' age, sex, educational level, marital status and religion to the adopted questionnaire.

Data were collected by trained research assistants using Computer Assisted Personal Interviewing (CAPI) application. The questionnaire was administered to participants by trained research assistants using a tablet via a face-to-face approach. Research assistants visited the hospitals, and through the assistance of unit heads, staff who were available and consented were interviewed at a convenient location. The questionnaire was administered in the English language.

Averagely, 45 minutes were spent administering a questionnaire. COVID-19 protocols such as physical distancing and wearing a nose mask were observed.

Data analysis

Data were analysed using the Statistical Package for Social Sciences (SPSS) (Version 24.0). At the univariate level, descriptive statistics, including frequencies, percentages, graphs and tables, were used to analyse respondents' background data and patient safety culture. One-Way Analysis of Variance was used to test for mean differences between the levels of care and the respective dimensions of patient safety culture. Negatively worded items were reverse-coded before the analysis. All analyses were conducted at a 95% confidence level.

Ethics and other permissions

This study was approved by the Ghana Health Service Ethics Review Committee (GHS-ERC: 007/04/21) and the Ethics Committee for the Humanities, University of Ghana (ECH 109/20-21). In addition, introduction letters were presented to the heads of the hospitals to elicit their cooperation. Informed consent was obtained from all the participants.

RESULTS

Descriptive statistics

It was found that the majority of the participants were females (55%), married (65%) and had tertiary education (89%). About half (49%) of the participants were between the ages of 31 to 40 years, and 14% were Muslims. Regarding the primary work area, 41% of the participants worked in medical/surgical units, while seven in ten participants were nurses. More than half (51%) of the participants had one to five years of work experience in their current hospital, while 55% had one to five years of work experience in their current unit/primary work area. Forty-five per cent of the participants worked more than 40 hours per week, and the majority (96%) had direct contact with patients. (Table 1)

Health professionals' perceptions of patient safety culture

Of the ten patient safety culture dimensions, teamwork (88.7%) scored the highest average positive response rate, while reporting of patient safety events scored the lowest positive response (54.6%). Five dimensions were rated moderate (50% to 69.9%). These include staffing and work pace (60.4%); error response (59.8%); communication openness (65.7%); reporting of patient safety events (54.6%); and hospital management support for patient safety (66.5%).

On the other hand, five dimensions were rated high ($\geq 70\%$). These include teamwork (88.7%); organizational learning-continuous improvement (81%); supervisor support for patient safety; communication about errors;

and handoffs and information exchange (81.6%). (Table 2)

Table 1 Study participants' characteristics

Characteristic		Tertiary n (%)	Secondary n (%)	Primary n (%)
Sex				
Male	739(45)	211(29)	165(22)	363(49)
Female	912(55)	224(25)	285(31)	403(44)
Marital status				
Married	1080(65)	300(28)	289(27)	491(45)
Unmarried/co-habiting	571(35)	135(24)	161(28)	275(48)
Age (years)				
30 or below	594(36)	111(19)	185(31)	298(50)
31-40	807(49)	200(25)	220(27)	387(48)
41 or above	238(15)	124(52)	45(19)	69(29)
Educational level				
Junior high	41(3)	7(17)	11(27)	23(56)
Secondary/Technical	84(5)	26(31)	31(37)	27(32)
Post-secondary/others	43(3)	8(19)	12(28)	23(53)
Tertiary/University				
Religion				
Catholic	414(25)	91(22)	128(31)	195(47)
Protestant	310(19)	86(28)	90(29)	134(43)
Pentecostal	647(39)	185(29)	168(26)	294(45)
Muslim	238(14)	65(27)	54(23)	119(50)
Others	42(3)	8(19)	10(24)	24(57)
Primary unit				
Medical/surgical	678(41)	289(43)	149(22)	240(35)
Emergency care	108(7)	21(19)	20(19)	67(62)
Labor/delivery	292(18)	69(24)	84(29)	139(48)
Pediatrics	141(9)	47(33)	42(30)	52(37)
Specialist service	184(11)	8(4)	77(42)	99(54)
Diagnostic	124(7)	1(1)	48(39)	75(60)
Administrative/support	124(7)	0(0)	30(24)	94(76)
Position/role				
Nursing	1197(72)	341(28)	325(27)	531(44)
Medical	175(11)	74(42)	48(27)	53(30)
Other clinical position	141(9)	4(3)	42(30)	95(67)
Managerial/support	138(8)	16(12)	35(25)	87(63)
Work experience in current hospital (years)				
< 1	286(17)	43(15)	97(34)	146(51)
1-5	841(51)	196(23)	231(27)	414(49)
>5	524(32)	196(37)	122(23)	206(39)
Work experience in the current unit (years)				
< 1	452(27)	90(20)	141(31)	221(49)
1-5	907(55)	192(21)	268(30)	447(49)
>5	292(18)	153(52)	41(14)	98(34)
Work hours per week				
30-40	910(55)	232(25)	264(29)	414(45)

> 40	741(45)	203(27)	186(25)	352(48)
Direct contact with patients				
Yes	1581(96)	432(27)	429(27)	720(46)
No	70(4)	3(4)	21(30)	46(66)

Table 2 Health professionals' perceptions of patient safety culture

Dimensions of patient safety culture	% of average positive response
Teamwork	88.7
Supervisors support patient safety	83.8
Handoffs and information exchange	81.6
Organizational learning	81.0
Communication about error	72.5
Hospital management support	66.5
Communication openness	65.7
Staffing and work pace	60.4
Response to error	59.8
Reporting patient safety events	54.6
(Interpretation of positive response: below 50% = low; 50-69.9% = moderate; 70% or above = high)	

One-way Analysis of Variance for patient safety culture dimensions across levels of care

We compared patient safety culture dimensions across primary, secondary and tertiary hospitals. Generally, patient safety culture was relatively poor in the tertiary hospital. Regarding teamwork, there was a statistically significant difference across primary, secondary and tertiary hospitals ($P < 0.05$). Similarly, we found a significant difference in some dimensions. For example, response to error, staffing and work pace; organizational learning-continuous improvement; and supervisor support for patient safety ($P < 0.05$). A post-hoc analysis using the Bonferroni test showed that the mean difference between the tertiary and secondary hospitals was statistically significant ($P < 0.05$). Also, the mean difference between the tertiary and primary hospitals was statistically significant. Moreover, we found a significant difference in the means of the secondary and primary hospitals. The effect size was estimated using the *Cohen F* technique²⁶, which revealed that the effect size ranged from small to large. For instance, organizational learning and continuous improvement had the largest effect size of 0.43, while teamwork had a medium effect size of 0.30.²⁶ A large effect size implies that the finding has practical significance. However, hospital management support for patient safety, handoffs and information exchange did not differ significantly across primary, secondary and tertiary hospitals ($p > 0.05$). (Table 3)

Table 3 One-way ANOVA comparing patient safety culture dimensions across levels of care

Characteristic					Effect-size	Post-hoc analysis for mean difference (Bonferroni)		
Dimensions	Tertiary (A) m(sd)	Secondary (B) m(sd)	Primary (C) m(sd)	P-value	Cohen F	A-B	A-C	B-C
Teamwork	3.92(0.6)	4.24(0.5)	4.30(0.6)	< 0.001	0.30	-0.32*	-0.38*	-0.05
Staffing and work pace	3.21(0.6)	3.61(0.6)	3.40(0.6)	< 0.001	0.22	-0.39*	-0.19*	0.20*
Organizational learning	3.47(0.6)	4.09(0.5)	4.04(0.6)	0.001	0.43	-0.61*	-0.56*	0.52
Response to error	3.26(0.7)	3.57(0.7)	3.38(0.8)	0.006	0.14	-0.31*	-0.12*	0.19*
Supervisor support	3.72(0.6)	4.00(0.6)	4.03(0.6)	< 0.001	0.20	-0.27*	-0.30*	-0.02
Communication about error	3.91(0.6)	4.06(0.6)	3.92(0.7)	< 0.001	0.10	-0.14*	-0.001	0.14*
Communication openness	3.83(0.6)	3.94(0.6)	3.77(0.7)	< 0.001	0.10	-0.10*	0.05	0.16*
Reporting events	3.60(0.9)	3.73(0.9)	3.34(0.9)	< 0.001	0.17	-0.12	0.26*	0.39*
Management support	3.45(0.7)	3.54(0.7)	3.53(0.8)	0.178				
Handoffs & exchange	3.86(0.5)	3.93(0.7)	3.86(0.7)	0.21				

Note: * P-Value < 0.05; Effect Size (Cohen F): 0.10 Small, 0.25- Medium, 0.40- Large

DISCUSSION

The findings show that patient safety culture differed significantly across primary, secondary and tertiary hospitals. Eight of the ten patient safety culture dimensions showed a statistically significant difference across tertiary, secondary and primary hospitals. Generally, patient safety culture was rated low in the tertiary hospital compared to primary and secondary hospitals. For instance, organizational learning was rated low in the tertiary hospital compared to the secondary and primary hospitals. The effect size was high, suggesting a strong practical significance. In addition, teamwork was rated low in the tertiary hospital compared to the secondary and primary hospitals. The effect size was considered medium, which suggests a moderate practical significance.

A previous study corroborated that patient safety culture was poor in a tertiary hospital in Ghana.¹⁹ Similar to the findings of our study, the authors found that teamwork had a high positive response, while adverse event reporting had low positive response ratings.¹⁹ These findings are understandable, considering the health system challenges in Ghana. Currently, only five tertiary hospitals in Ghana are expected to serve a population of about thirty-one million. These few tertiary hospitals receive referral cases from several primary and secondary hospitals nationwide. In addition, some patients abuse the gatekeeper system by using tertiary hospitals as their first point of contact instead of visiting primary health facilities.²⁷ Hence, tertiary hospitals may be overwhelmed with medical conditions and many patients amid resource constraints, affecting their ability to report adverse events. Similarly, a previous study reported that high patient attendance was a major factor in the failure to report medical errors.²⁸ Despite the preceding possible justification, the low reporting may be attributed to healthcare organisations' blame (punitive) culture. The literature is conclusive that blaming culture in healthcare is a major reason for the under reporting of medical errors.²⁹⁻³¹

The low reporting of adverse events across primary, secondary and tertiary hospitals in Ghana is a major setback that requires the attention of stakeholders. The tertiary hospital is the highest level of care in Ghana, where complex medical cases are managed. Hence standards of care are expected to be better than the primary and secondary hospitals. Therefore, it is a matter of concern that reporting of adverse events, which is an important indicator of a high standard of care, is low in tertiary hospitals compared with primary and secondary hospitals. Stakeholders, including the Ministry of Health and Ghana Health Service leaders, can leverage these findings to inform patient safety policies and strategies. It is recommended that healthcare leaders should focus on promoting a just culture by adopting a non-punitive response to errors and anonymous error reporting strategies to help improve medical error reporting in Ghanaian hospitals.

The findings of this study provide useful information that can inform patient safety programming, policy and research. This study provides relevant information for improving patient safety culture among health professionals. In addition, we used a standardized questionnaire that has been adopted globally. Hence these findings can be juxtaposed with findings across the globe. Notwithstanding, this study is subject to social desirability biases. Participants may rate themselves positively, which might have accounted for the high rating of patient safety culture. Another limitation of this study is the convenient selection of participants; hence the findings should be interpreted with this limitation in mind.

CONCLUSION

The study demonstrated that patient safety culture is a major concern across Ghana's primary, secondary and tertiary hospitals. However, patient safety culture in primary hospitals differs from the secondary and tertiary hospitals. The findings also underscored areas of patient safety culture that require improvement.

ACKNOWLEDGEMENT

The authors thank the selected hospitals' participants, research assistants and managers.

REFERENCES

1. Kelsey Flott GF, Ara Darzi. The global state of patient safety: Institute of Global Health Innovation, Imperial College London, 2019. https://www.imperial.ac.uk/media/imperial-college/institute-of-global-health-innovation/GlobalStateofPS_DIGI-TAL_16Sep19%5B2%5D.pdf
2. Makary M, A, Daniel M. Medical error—the third leading cause of death in the US. *BMJ* 2016;353(i2139) doi: doi: <https://doi.org/10.1136/bmj.i2139>
3. Rodziewicz TL, Houseman B, Hipskind JE. Medical error reduction and prevention. 2018: https://euro-pepmc.org/article/nbk/nbk499956#_NBK499956_ai__
4. Tolley CL, Forde NE, Coffey KL, et al. Factors contributing to medication errors made when using computerized order entry in pediatrics: a systematic review. *Journal of the American Medical Informatics Association* 2018;25(5):575-84. <https://doi.org/10.1093/jamia/ocx124>
5. Antino M, Sanchez-Manzanares M, Ortega A. The hospital survey on patient safety culture in Mexican hospitals: Assessment of psychometric properties. *Safety Science* 2020;128:104706. <https://doi.org/10.1016/j.ssci.2020.104706>
6. World Health Organization. Global Patient Safety Action Plan 2021–2030. Towards Eliminating Avoidable Harm in Health Care, 2020. <https://www.who.int/publications/i/item/9789240032705>
7. Han Y, Kim J-S, Seo Y. Cross-sectional study on patient safety culture, patient safety competency, and adverse events. *Western journal of nursing research* 2020;42(1):32-40. <https://doi.org/10.1177/0193945919838990>
8. Sousa P, Uva AS, Serranheira F, et al. Patient and hospital characteristics that influence incidence of adverse events in acute public hospitals in Portugal: a retrospective cohort study. *International Journal for Quality in Health Care* 2018;30(2):132-37. <https://doi.org/10.1093/intqhc/mzx190>
9. Yuan Z, Cooper GS, Einstadter D, et al. The association between hospital type and mortality and length of stay: a study of 16.9 million hospitalized Medicare beneficiaries. *Medical care* 2000;231-45. <https://www.jstor.org/stable/3767160>
10. Lee SE, Scott LD, Dahinten VS, et al. Safety culture, patient safety, and quality of care outcomes: a literature review. *Western journal of nursing research* 2019;41(2):279-304. <https://doi.org/10.1177/0193945917747416>
11. Abusalem S, Polivka B, Coty M-B, et al. The relationship between culture of safety and rate of adverse events in long-term care facilities. *Journal of patient safety* 2021;17(4):299-304. DOI: 10.1097/PTS.0000000000000587
12. Wami SD, Demssie AF, Wassie MM, et al. Patient safety culture and associated factors: A quantitative and qualitative study of healthcare workers' view in Jimma zone Hospitals, Southwest Ethiopia. *BMC health services research* 2016;16(1):1-10. <https://doi.org/10.1186/s12913-016-1757-z>
13. Hayashi R, Fujita S, Iida S, et al. Relationship of patient safety culture with factors influencing working environment such as working hours, the number of night shifts, and the number of days off among healthcare workers in Japan: a cross-sectional study. *BMC Health Services Research* 2020;20(1):1-9. <https://doi.org/10.1186/s12913-020-05114-8>
14. Yuniati D, Trisnawati AD, Rochmah TN. How is Patient Safety Culture, Perceived Organizational Support, and Contextual Performance Impacts Adverse Events? *Biomolecular and Health Science Journal* 2022;5(2):93-98. 10.4103/bhsj.bhsj_24_22
15. Sculli GL, Pendley-Louis R, Neily J, et al. A high-reliability organization framework for health care: a multiyear implementation strategy and associated outcomes. *Journal of patient safety* 2022;18(1):64-70. DOI: 10.1097/PTS.0000000000000788
16. Griffio C, Castello J. Towards an ontology of healthcare compliance based on just culture paradigm. *ICAIL-Related Work* 2021;2896:21-43. https://ceur-ws.org/Vol-2896/RELATED_2021_paper_3.pdf
17. Najjar S, Nafouri N, Vanhaecht K, et al. The relationship between patient safety culture and adverse events: a study in Palestinian hospitals. *Safety in Health* 2015;1(1):1-9. <https://doi.org/10.1186/s40886-015-0008-z>
18. Akologo A, Abuosi AA, Anaba EA. A cross-sectional survey on patient safety culture among healthcare providers in the Upper East region of Ghana. *PloS one* 2019;14(8):e0221208. <https://doi.org/10.1371/journal.pone.0221208>
19. Muftawu M, Aldogan EU. Measuring patient safety culture: A study at a teaching hospital in Ghana. *Journal of Patient Safety and Risk Management* 2020;25(6):250-58. <https://doi.org/10.1177/2516043520938534>
20. Ministry of Health. Ghana National Healthcare Quality Strategy (2017-2021) Accra 2016. <https://www.moh.gov.gh/wpcontent/uploads/2017/06/National20Quality20Strategy20Ghana.pdf>

21. Adams K. Government develops road map on patient safety. Ghana News Agency 2019. <https://www.nhis.gov.gh/News/government-develops-road-map-on-patient-safety--5252>
22. Abuosi AA, Akologo A, Anaba EA. Determinants of patient safety culture among healthcare providers in the Upper East Region of Ghana. *Journal of Patient Safety and Risk Management* 2020;25(1):35-43. <http://dx.doi.org/10.1177/2516043519876756>
23. Ghana Statistical Service. Ghana 2021 Population and Housing Census, General Report, Volume 3B, Age and sex profile 2021. <https://census2021.statsghana.gov.gh/subreport.php?readreport=MjYzOTE0MjAuMzc2NQ==&Ghana-2021-Population-and-Housing-Census-General-Report-Volume-3B#>
24. Abuosi AA, Nketiah-Amponsah E, Abor JY, et al. To what extent does Ghana's National Health Insurance Scheme Protect Members from Out-of-Pocket Payments in Hospitals? *GHANA SOCIAL SCIENCE* 2016;13(2):50. <https://journals.ug.edu.gh/index.php/gssj/article/view/1181/782>
25. Taber KS. The use of Cronbach's alpha when developing and reporting research instruments in science education. , 48(6), 1273-1296. *Research in science education* 2018;48(6):1273-96. <https://doi.org/10.1186/s40886-015-0008-z>
26. Kim H-Y. Statistical notes for clinical researchers: Sample size calculation 3. Comparison of several means using one-way ANOVA. *Restorative dentistry & endodontics* 2016;41(3):231-34. DOI: 10.5395/rde.2016.41.3.231
27. Amoro VA, Abihiro GA, Alatinga KA. Bypassing primary healthcare facilities for maternal healthcare in North West Ghana: socio-economic correlates and financial implications. *BMC Health Services Research* 2021;21(1):1-14. <https://doi.org/10.1186/s12913-021-06573-3>
28. Fathi A, Hajizadeh M, Moradi K, et al. Medication errors among nurses in teaching hospitals in the west of Iran: what we need to know about prevalence, types, and barriers to reporting. *Epidemiology and health* 2017;39. doi: 10.4178/epih.e2017022
29. Khatri N, Brown GD, Hicks LL. From a blame culture to a just culture in health care. *Health care management review* 2009;34(4):312-22. DOI: 10.1097/HMR.0b013e3181a3b709
30. Al-Ahmadi TA. Measuring Patient Safety Culture in Riyadh's Hospitals: A Comparison between Public and Private Hospitals. *The Journal of the Egyptian Public Health Association* 2009;84(5-6):479-500. PMID: 20673566
31. Hamdan M, Saleem AAo. Assessment of patient safety culture in Palestinian public hospitals. *International journal for quality in health care* 2013;25(2):167-75. <https://doi.org/10.1093/intqhc/mzt007>